






RRB NTPC Stage-2 Exam Pattern

Sections No. of Questions Total Marks Duration

Mathematics 35 35

90 minutes

General Intelligence and 
Reasoning

35 35

General Awareness 50 50

Total 120 120









Statements :

Only fantastic are fans.

No fans are fabulous.

Conclusions :

I. No fantastic being fabulous is a 
possibility.

II. Some fabulous are fantastic.

EXAMPLE

कथन: 
केवल शानदार प्रशंसक हैं।

कोई प्रशंसक शानदार नह ंहैं।

ननष्कर्ष: 
नकस शानदार के शानदार होने

क संभावना नह ं है।

कुछ शानदार शानदार हैं।



Statements :

Only fantastic are fans.

No fans are fabulous.

Conclusions :

I. No fantastic being fabulous is a 
possibility.

II. Some fabulous are fantastic.

EXAMPLE



Find the missing term(?)

11 : 5 :: 17 : ?

(A) 6

(B) 8

(C) 10

(D) 12



Find the missing term(?)

5 : 21 :: 7 : ?

(A) 25

(B) 49

(C) 43

(D) 30



Find the missing term(?)

30 : 16 :: 102 : ?

(A) 49

(B) 52

(C) 61
(D) 98



Find the option which should replace (?)

DON : 463
ROAM : 7612
FREEDOM :  ?

A. 713462
B. 6755462
C. 6755452
D. 6555345



Find the option which should replace (?)

AF : 9 :: AA : 4 :: AE  

A. 10
B. 15
C. 9
D. 12



Find the option which should replace (?)

16 : 124  :: 11 : ?

(A) 88

(B) 86

(C) 24
(D) 22



Find the option which should replace (?)
324 + 289 = 35

441 + 484 =  43

625 + 400 = 45

256 + 729 = ?

(A) 29

(B) 43

(C) 40

(D) 37



Find the option which should replace (?)

16 : 74 :: ? : 164

(A) 16

(B) 12

(C) 19

(D) 18 



Find the option which should replace (?)

6 @ 4 @ 3 = 29

3 @ 8 @ 7 = 338

9 @ 8 @ 2 = ?

(A) 8

(B) 9

(C) 56
(D) 165



Find number of triangle in given figure ?
निभुज क संख्या ज्ञात क नजये?

(A) 32 (B) 27

(C) 41 (D) 37



Find the option which should replace (?)

3 ( 29 ) 247

5 ( ? ) 417

7 (79) 567

(A) 28

(B) 25

(C) 35

(D) 39



Find the option which should replace (?)
1 + 4 = 51

8 + 2 = 06

3 + 6 = 72

9 + 7 = ?

(A) 37

(B) 49

(C) 32

(D) 23


